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Chapter 1.4

Definition

We say that
lim
x→a

f(x) = L (1)

if for all ε > 0, there exist a δ > 0 such that

0 < |x− a| < δ =⇒ |f(x)− L| < ε . (2)

Some examples

1. We say that limx→1 2x+ 1 = 3, because for every ε > 0, choosing δ = ε/2, for 0 < |x− 1| <
δ = ε/2 we have

|f(x)− L| = |2x+ 1− 3| = 2|x− 1| < 2ε/2 < ε (3)

1. We say that limx→1
x2−1
x−1 = 2, because for every ε > 0, choosing δ = ε, for 0 < |x − 1| < δ

we have

|f(x)− L| =
∣∣∣∣x2 − 1

x− 1
− 2

∣∣∣∣ = |x− 1| < ε (4)

1


	Definition
	Some examples

